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B AR2 = B#EY ERY Rk i5%&
ThhY 0.3 10.5 200
FThAY 0.5 10.5 200
TIhY 0.3 105 2,000
TIhY 0.5 105 2,000
TIhY 0.8 105 200
TIhY 1.0 105 100
TIHY 1.2 10.5 100
AFAHY 0.3 10.5 100
AFAHY 0.5 10.5 100
AFAHY 1.0 15.0} 50
AF3 0.3 10.5 100
AF32 0.5 10.5 100
AONEID 0.3 105 500
AONEID 0.5 105 4,500
AONEID 0.5 30
AONEID 0.8 105 1,000
AONEID 0.8 50
AONEID 1.0 105 850
AONEID 1.0 50
AONEID 1.2 50
AONEID 15 15.0} 180
AONEID 15 100
AONEID 1.8 15.0} 30
AONEID 1.8 100
AONEID 2.0 15.0} 180
AONEID 2.0 0.4 150
AONEID 2.5 0.12 1.0 60
AONEID 2.5 0.8 150
AONEID 3.0 0.15 1.2 35
AONEID 3.0 0.18 15 25
AO/NEID 35 0.21 1.8 25
IS/% 0.3 105 200
IS/% 0.5 10.5 300
/% 0.3 105 200
/% 0.5 105 100
I/* 0.8 10.5 100
HhoLs/ 0.3 105 100
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B AR2 =1 B#EY ERY Rk & i5%&
A< X 0.3 10.5 100
NG 0.5 10.5 150
NG 1.0 10.5 200
el 15 50
DR/ *x 0.3 10.5 2,000
DR/ * 0.5 10.5 2,000
DR/ X 0.8 10.5 200
9FF+Y 0.3 10.5 500
IF < 0.5 10.5 500
HIXE 0.3 105 1,500
HIXE 0.5 105 6,100
HXE 0.8 105 1,000
HXE 1.0 105 1,000
HIXE 1-1 5,250
HXx 2-1 8,000
JaARETF 0.3 10.5 500
JOARETF 0.5 10.5 300
Gy 0.3 10.5 1,000
TYEx 0.5 10.5 1,215
TYFx 0.8 10.5 500
Gy 1.0 10.5 600
TXE 1.5 15.0} 20
a5 0.3 105 2,515
a5 0.5 105 2,500
a5 0.8 105 1,000
a5 1.0 10.5 520
ANYFNAITF 0.3 105 100
INYFINAIT 05 10.5 80
INYFINAIT 1.0 10.5 80
/INYFINATT 1.5 10.5 80
OLSY 0.3 10.5 200
JLSY 0.5 15.0] 200
D e 221 0.3 105 50
xR 0.5 10.5 20
ohY 0.3 105 2,000
ohY 0.5 105 2,000
ohY 0.8 105 500




B AR2 = B#EY ERY Rk i5%&
ohY 1.0 15.0| 200
o5& 0.5 10.5 5
TRSE 0.3 105 200
TEAE 0.5 10.5 100
RAETA 0.3 105 2,000
RAETA 0.5 105 2,000
REA 0.8 10.5 200
v3ag 0.3 105 500
v3ag 0.5 10.5 100
2T/% 0.3 10.5 1,000
2T/% 0.5 10.5 500
2T/% 0.8 10.5 100
TFrs/% 0.3 10.5 200
FTFrs/% 0.5 10.5 200
rL/F 0.3 10.5 200
TTINA 0.3 105 500
T TINUA 0.5 10.5 500
73 0.3 105 100
73 0.5 10.5 100
LY/F 0.3 10.5 100
L/Fx 0.5 10.5 100
EF/¥ 0.3 10.5 200
EF/X 0.5 10.5 300
Evay 0.3 10.5 200
YovJy 0.3 10.5 300
YIUINFx 0.3 10.5 1,040
YIUEx 0.5 10.5 1,000
YIT7OHA 0.3 1.5~10.5 100
YIT7OHA 0.5 10.5 600
YIHo5 0.3 105 2,010
YIHo5 0.5 105 7,000
YIHo5 0.5 1,080
YIHo5 0.8 105 1,200
YIHo5 0.8 600
YIHo5 1.0 105 1,500
YIHo5 1.0 600
YIHo5 1.2 15.0| 200
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B AR2 = B#EY ERY Rk i5%&
YIHI5 15 15.0 100
YIHo5 1.8 15.0 50
Iy 0.5 10.5 30
YIRS 0.3 10.5 300
IR 0.5 10.5 300
YIEE 0.3 105 1,000
YIEE 0.5 105 1,100
YIEE 1.0 10.5 50
XN 0.3 10.5 100
RyrDEFITEHERT, = 88,710




